KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL Form ACO-1 September 1999 Torm Must Be Typed

KCC WICHITA

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #5214	API No. 15 - 095 - 22025-00 -00
Name: Lario Oil & Gas Co. JUL 6 6 200	County: Kingman
Address: 301 S. Market St. CONFIDENTI	A
City/State/Zip: Wichita, KS 67202	330 feet from S (N)(circle one) Line of Section
Purchaser: Plains Marketing / EOV Gathering, LLC	990 feet from (E) W (circle one) Line of Section
Operator Contact Person: Jay G. Schweikert	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 265-5611	(circle one) (NE) SE NW SW
Contractor: Name: Southwind Drilling Co., Inc.	Lease Name: Young "F" Well #: 1-33
License: 33350	Field Name: Wildcat
Wellsite Geologist: Vern Schrag	Producing Formation: Mississippian
Designate Type of Completion:	Elevation: Ground: 1456 Kelly Bushing: 1465
New Well Re-Entry Workover	Total Depth: 3925 Plug Back Total Depth: 3856
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/sx cmt.
Well Name:	Drilling Fluid Management Plan ALT TNH 8-10-08
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 24,000 ppm Fluid volume 800 bbls
Plug Back Plug Back Total Depth	Dewatering method used evaporation
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No	
03/10/06 03/17/06 WOCT	Lease Name: License No.: Quarter Sec. Twp. S. R. East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
	Docker No.
•	· · · · · · · · · · · · · · · · · · ·
INSTRUCTIONS: An original and two copies of this form shall be filed with the	
Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12	
107 for confidentiality in excess of 12 months). One copy of all wireline logs a	nd geologist well report shall be attached with this form. ALL CEMENTING
TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate	e the oil and gas industry have been fully complied with and the statements
herein are complete and correct to the best of my knowledge.	
Signature: Jay & Schwellett	KCC Office Use ONLY
Title: Operations Engineer Date: 7-6-6	Letter of Confidentiality Received
Subscribed and sworn to before me this 6 th day of July	If Denied, Yes Date:
20_06 NANCY A. WESTEMAN	
Notary Public: Manay A. Notary Public - State of Kane Notary Public: Manay A. State of Kane Notary Public: M	
Date Commission Expires: August 29, 2006	JUL 0 7 2006

Operator Name:	Lario Oil & Ga	s Co.	Lea	ase Name:	Young "F"	[/[7]	- Well #:	<u>-</u> 33,	
Sec. 33 Twp. 2	27 S. R. <u>05</u>	☐ East	est Cou	ınty:	Kingman		.m. G) 1) [4	4 4	
INSTRUCTIONS: S tested, time tool ope temperature, fluid red Electric Wireline Log	n and closed, flowing covery, and flow rates	and shut-in pres if gas to surface	sures, whether test, along wit	r shut-in pr	essure reached	static level, hydro	static pressui	es, botto	m hole
Drill Stem Tests Take		☐ Yes 🗸]No	 ✓L	.og Formati	on (Top), Depth a	nd Datum		Sample
Samples Sent to Ge	ological Survey	✓ Yes	No	Nam	ne		Тор	ſ	Datum
Cores Taken		☐ Yes 🗸	No	Hee	bner		2706	-	1241
Electric Log Run		✓ Yes	No	Lan	sing		2972	-	1507
(Submit Copy)				Paw	nee		3562	-:	2097
List All E. Logs Run:				Che	rokee Sh		3618	-2	2153
GR-HRI-SDL	DSN-MICRO			Miss	sissippian		3780	-2	2315
; i									
r			ASING RECOR		ew Used ermediate, produc	tion, etc.			•
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.) V	Weight bs. / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	12.25"	8-5/8"	2	3	300	60/40 Poz	190	2% ge	l + 3% CC
Production	7.875"	5-1/2"	15.	.5	3909	AA-2	200	0.8% FLA	+0.75% GasBlk+
:								0.25# CF4	+10%Salt+0.2 DF
		ADDIT	TIONAL CEMEN	ITING / SQI	JEEZE RECORD)			
Purpose: Perforate	Depth Top Bottom	Type of Ceme	ent #Sa	cks Used		Type and P	ercent Additives	\$	
Protect Casing Plug Back TD Plug Off Zone									
		·							
Shots Per Foot		ON RECORD - Brid Footage of Each Inte		pe		cture, Shot, Cement mount and Kind of Ma		rd	Depth
4	3784' - 3794'				850 gal 15% l	NEFE			
1	-				Frac w/ 34,00	00 gal 65Q N2 +	3,500# 100	Mesh +	
					17,300	# 12/20 (screen	ed out)		
· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·			Re-Frac w/ 38	3,750 gal XL + 2,5	500# + 26,900	O #	
					16/30 +	+ 6000# 16/30 R	CS .		
TUBING RECORD	Size	Set At	Packe	er At	Liner Run	Yes V No			
	d Production, SWD or El	nhr. Produc	ing Method	Flowin	g	<u> </u>	t Dth	ег (Explain)) .
Estimated Production Per 24 Hours	Oil I	3bls. Ga	s Mcf	Wate	er B	bls. G	as-Oil Ratio		Gravity
Disposition of Gas	METHOD OF C	OMPLETION		<u> </u>	Production Inter	val			
☐ Vented , ✓ Sold	Used on Lease	_ ·	n Hole 📝 P	erf. [Dually Comp.	Commingled _			



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 [620] 624-2280 FAX

Invoice

		Inve	nce				
Bill to		5138010	Invoice	Invo	ice Date	Order	Station
211110		1200	603071	3	/11/06	12309	Pratt
	CustomerR	KCC			Service De	scription	
		JUL 0 6 2006			Cem	ent	
	Hays, K.S 6/601	INCAITIAI		Lease		Well	Well Type
		CONFIDENTIAL		Young		F1-33	New Well
				AFE		PO	Terms
		·		06-032			Net 30
	CustomerR	lep			Trea	ter	
					K. Go	rdley	
ID.	Description			<u>UOM</u>	Quantity	Unit Price	<u>Price</u>
D203	60/40 POZ (COMMON)	•		SK	190	\$9.82	\$1,865.80 (T
C310	CALCIUM CHLORIDE			LBS	492	\$1.00	\$492.00 (T
C194	CELLFLAKE			LB	41	\$3.41	\$139.81 (T

<u>ID.</u>	<u>Description</u>	COM	Quantity	Ona I rue	17the
D203	60/40 POZ (COMMON)	SK	190	\$9.82	\$1,865.80 (T)
C310	CALCIUM CHLORIDE	LBS	492	\$1.00	\$492.00 (T)
C194	CELLFLAKE	LB	41	\$3.41	\$139.81 (T)
F163	WOODEN CEMENT PLUG, 8 5/8"	EA	1	\$88.90	\$88.90 (T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY.	MI	100	\$4.00	· \$400.00°
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	50	\$2.50	\$125.00
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	410	\$1.60	\$656.00
E107	CEMENT SERVICE CHARGE	SK	190	\$1.50	\$285.00
R200	CASING CEMENT PUMPER, 0-300' 1ST 4 HRS ON LOC.	EA	l	\$662.00	\$662.00
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00
S100	FUEL SURCHARGE		1	\$50.89	\$50.89

Sub Total:

\$5,015.40

Discount:

\$893.61

Discount Sub Total: Kingman County & State Tax Rate: 5.30%

\$4,121.79

Taxes:

\$112.66

(T) Taxable Item

Total:

\$4,234.45

Brander Brander

RECEIVED JUL 0 7 2006 KCC WICHITA

/	1 JCI	(-	1/2	-	2	1/- 1			_)				
30	ת מ		4 _	Je	t.		<i>L</i> a				•			
A	\		<i>= N</i>	e re	- -	<i>≤= /</i> =	VIC	es.			FIELD	0 0	RDER	1230
			Date 3 -	11-0	6	Lease	Dui	116	15	21	Well #	3.3	Legal 3	3-27-5
ERV	VIÇES.		Custom	er ID		County	1/5	/	n <i>ig</i> r	V	State		Station	AN. Lis
'AD	TO 00	rd	BA			Depth			mation		700		Shoe Joint	V 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
-7 //C	200	<u>~ 4</u>	Cipi	<u> </u>		Casing	25/	Casing	Depth	, T	200	1	Job Type SURF	ALE-1
						Custom	er Repres	entative	<u> </u>		300 Treate	35	rues (is the
						<u> </u>						<u> </u>	went	<i>v</i> /
Number	06-032	PO Nu	ımber			Material Receive	s d by	x E	7 h	m/-	1000	n 21		
ode	QUANTITY	MATE	PIAL FO	UIPMENT a	and SE	<u> </u>		UNIT PI	RICE	AM	OUNT		ACC	OUNTING
203	190sK	601	40	POZ			=						- TALOTION	ANCONT
310	49216	CiA	202	Zim	(el	trole	TIDE	-						
94	4116	Pi	WI	ZIAR	13	, / -	-				M	10		
63	134.	25	18 1	NOOL	<u> </u>	Peu	B =	_			110	-	ስብጽ	
00	100 mile	TR	uck	-M	De	725,					JUL	6 2		
0/	50mile	- 1PE	214	IP IN	NL	725					CONF	DEI	MINA	
104	410TM	BU	UK	DE	ZZ	WE	my							
107	190 SK.	Cin	75	PW	12	there	as							
200	139.	Pin	m	ate	AR	GES								
70/	184	11	ME	W	14	BAL)							
													, , , , , , , , , , , , , , , , , , , ,	
													,	
			,							······································				
			,								* <u> </u>			
1														
					<u> </u>									
- 1									_				REC	EIVED
	·					<u> </u>							JUL	0 7 2006
											i i			I . ,
													KCC	WICHITA



TREATMENT REPORT

Customer	1250 E	DTZ.	# GP	A Le	ease No.				Date		·	
Lease Soc	ewa	1F	j		'ell#	-33		····	1 .	3-11-	-06	٠.
Field Order #	Station	PRI	11.1	<i>S</i> .		Casing	5/8	Pepth 199	County	Will	Place	State U.S.
Type Job	SUPF	raci	3-1	vu	/		Form	ation	•	Legal	Description	3-27-5
PIPE	E DATA	PE	RFORA	TING	DATA	FLUID	USED		T	REATMENT		
Casing Size	Tubing Siz	e Shot	s/Ft	Ι		Acid			RATE	PRESS .	ISIP	
Depth	Depth	From	í	То		Pre Pad.		Max			5 Min.	KCC
Volume	Volume	From		То		Pad	· · · · · · · · · · · · · · · · · · ·	Min .			10 Min.	UL 0 6 2000
Max Press	Max Press	From	1	То	,	Frac		Avg			15 Min.	NFIDENTIA
Well Connection	n Annulus V	ol. From	1	То			V // /	HHP Use	d		Annulus	Pressure
Plug Depth	Packer De	pth From	· · · · · · · · · · · · · · · · · · ·	То		Flush		Gas Volu	me	- 0	Total Loa	nd
Customer Rep	resentative	100	4		Station	Manager	10%	VIII	Treat	er (Jee)	RSU	31
Service Units	120	305	4	02	346	\$72						
Driver Names	46	JDI	m	/	57	EPHEN	/					
Time	Casing Pressure	Tubing Pressure	, Вы	s. Pump	oed	Rate		-		Service Log		
0300							Du	1600	AS.	DON	/	
										<i>i</i> —		
							fler	102	99	85/8	7 CS	6
							ļ	1-0			7	
							11	6 10 1	Wor	1 - 151	USAR	-COUL
6.73				7=			1		10	· · · · · · · · · · · · · · · · · · ·		
2430	200		- 4	12	- .	6	1/1/1	DX 1	90	511. 0	1/40	802
			_		_		2%6	B 31	600	14 #	KK CE	TLETIAKE
							14		1.25		, 5,7	HZU/SK
		··	<u> </u>				12/	DP-	ICB (LEASE	3 /1	46
		-		· · ·			-	7/17	- 1	0		
	0	 		0		9	121	1476/	_(051.		
0570	200		-	19	,	6	1	16 /	Du	111		
			+-	0		<u> </u>	JU	16 10	NU			
			+					·				/
-			+-				(2.10)	le. 153		EME	2011	10-7
		······································					70	~ , / O ,	W. C	LIVE.	REC	EIVED
			-	**'						- 		7 2006
								Λ .	7			VICHITA
0530							10	Bli	Var	UETE	DIOC V	VIOTHA -
								7)	1/11	MUS	-/	13000
8: 100AA	NE Llive	N 61 A		OV D	612	Dratt KC 6	719/1-0	E12 . /600	1 672	1201 . Eas	/ (CON) C	70 F202



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice.

5138011

Lario Oil & Gas Co. P.O. Box 307 Kingman, KS 67068

Bill to:

KCC JUL 0 6 2006 CONFIDENTIAL

Invoice	Invoice Date	Order	Station
603122	3/18/06	12487	Pratt
	Service D	escription	
n	Cei	nent	
603122 3/18/06 12487 Pratt Service Description Cement Well Well Young F1-33 New AFE PO Ter			Well Type
	Young	F1-33	New Well
	AFE	PO	Terms
(06-032		Net 30

CustomerRep Treater J. Fletcher C. Messick

ID.	Description	<u>UOM</u>	Quantity	Unit Price	<u>Price</u>
D205	AA2 (COMMON)	SK	200	\$15.37	\$3,074.00 (1
D203	60/40 POZ (COMMON)	SK	25	\$9.82	\$245.50 (7
C194	CELLFLAKE QU NV	LB	50	\$3.41	\$170.50 (T
C195	FLA-322 OK to (a)	, LB	151	\$7.50	\$1,132.50 (7
C221	SALT (Fine) Acct. Expl. File	GAL	1134	\$0.25	\$283.50 (7
C243	DEFOAMER //	LB	38	\$3.45	\$131.10 (7
C312	GAS BLOCK MAR 24 W	LB	14!	\$5.15	\$726.15 (7
C141	CC-1, KCL SUBSTITUTE	GAL	8	\$44.00	\$352.00 (7
C304	SUPER FLUSH II NF GV SF DM	GAL	500	\$1.53	\$765.00 (1
F101	TURBOLIZER, 5 1/2"	EA	7	\$74.20	\$519.40 (7
F143	TOP RUBBER CEMENT PLUG, 5 1/2"	EA	1	\$75.00	\$75.00 (7
F191	GUIDE SHOE-REGULAR, 5 1/2"	EA	1	\$186.65	\$186.65 (7
F231	FLAPPER TYPE INSERT FLOAT VALVES, 5 1/2"	EA	1	\$175.00	\$175.00 (7
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	100	\$4.00	\$400.00
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	50	\$2.50	\$125.00
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	525	\$1.60	\$840.00
E107	CEMENT SERVICE CHARGE	SK	225	\$1.50	\$337.50
R208	CASING CEMENT PUMPER, 3501-4000' 1ST 4 HRS ON LOC	EA	. 1	\$1,680.00	\$1,680.00
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00
R702	CASING SWIVEL RENTAL	EA	1	\$150.00	\$150.00
S100	FUEL SURCHARGE		1	\$119.09	\$119.09
	Bruil Sander 3-22-06			+	
	12 mil 3 - 06			Sub Total:	\$11,737.89
	3-70			Discount:	\$2,091.38
	PECEIVED		D:	4 C L T 4 1.	ΦΩ <i>CAC</i> 5 1

RECEIVED

Discount Sub Total:

\$2,091.38 \$9,646.51

Kingman County & State Tax Rate: 5,30%

Taxes:

\$341.32

JUL 0 7 2006 KCC WICHITA

(T) Taxable Item

Total:

\$9,987.83

, Tulsa, OK 74182 PLEASE REMIT TO Acid Services, LLC, Dept No 1131



10	; ; •>→ ₁	.		NERG	y ser	UIE	res INC.		CIEL D	ORDER	1 0	4872	
	` <u>-</u>				Su	bject to	Correction				1 2	. 4 0 :	
<i>-</i>			Date - S	8-06	Lease U	UN	a"F"		Wel # - 33	1 33 - 3	17S-	·5W	
	VICES		Customer		County	<u> </u>	Man		State 15	Station P	ratt	-	
					Depth	புத	Man Formation		1 1 0	Shoe Joint	874	+'	
Lari	o Oilan	d Gas	<u>s, Com</u>	pany	Casing		Casing Depth	. [LoG TD	Inh Time		1/2	دوا
				<u> </u>	51/2 15.	<u>54</u>	Casing Depth Ft. 390	8'	3,927	Cement-L	ong Ji	tring. Nel	
					Customer Re	av	Fletch	er	Cla	rence R.A	<u>essi</u>	ck We	П
						•	1	,	14				
FE Number	37	PO Nu	ımber		Materials Received by	X	Gar	1 7	letitu				_
<u>06− 0</u> Product				SAFAIT and S	EDVICES USED		UNIT PRICE		MOUNT	CORRECTION	COUNTIN	AMOUNT	-
Code	QUANTITY		- C	MENI and S	ERVICES USED		-						_
1-205	200sk.	60/	40 Po	7									_
<u>1-203</u>	87311.	100	10 10										_
-194	SOLb.	Cel	Iflah	re		4	_			<u>¥</u>	(C)C	-00	_
:195	15116.	FI	4-32	<u>)</u>			-				6 3	<u>Ono</u>	_
.221	113416	Salt	Fin	e)		-				<u>باده ه</u>	ENE	NTIAL	
· 243	38 Lb.	Def	oame	r						COL	11 0-		_
-312	141Lb.	Gas	s Blo	K		-							_
	11160.	<u> </u>	<u>, , , , , , , , , , , , , , , , , , , </u>										
-141	8Gal.	CC-	- 1			-							_
:304	500Gal		er F	lush.	II.								_
		- 1						ļ					-
-101	7ea.	Tu	rboli	zer,	512"								-
= 143	lea.	Too	Rubb	erCe	ment	Ply	g, 51/2".						_
- 191	leq.	Gui	deS	noe-	Pegula	r	5 /2" ·	-	CV	9 -			-
F-231	leq.	Fla	pper	Type	Inser	<u> </u>	g, 51/2". 51/2" Float V	4 V€	25, 51a		_		_
•	1							+					_
=-100	loomi.	Hea	vy Ve	hicle	Milea	ge	, 1-Wa	4 7 -			-		_
E-101	loomi. 50 mi. 525 tm	Pic	KUP (Nileag	je, 1-	Wa	y	 					_
E-104	525 tm	Bul	k Del	ivery			<u> </u>						_
E-107	225 sk.	Cen	nent?	Servic	e Cha	rge	2	-					_
	,				. 0		2001	-	20'				_
1-208	lea.	Cas	ing C	<u>emen</u>	t Pumpe	er,	3,501-1	7,00	<u> </u>				_
2-701	lea.	Ce	ment	Head	Kent	al		+					_
<u> </u>	lea.	Cas	zing S	<u>wive</u>	1 Renta	<u> </u>	<u> </u>		·				_
		 						+			REC	EIVE	
	 	D.'-	<u> </u>	. I P.	ice =	·	\$	9	527.42		JUL	0 7	
		DI	s tax	20 1	ice -			- '''	<u> </u>			WICHT.	
		11103	2 1 91	٤)							NUC	AALOL	_
10244 NE	Hiway 61 · P.(). Box 86	13 · Pratt	KS 67124	8613 · Phon	e (62) 672-1201 ·	Fax (6	20) 672-5383	TOTAL			_



KCC JUL 0 6 2006

TREATMENT REPORT

	ustomer C	Dilano	16	as Ca	omp	ahv	ase No	Э.		C	ONFIDE	NIIAL	Date	7	1	_			•
	ease V	ung!	= \ <u>\</u>	ا ک	1.	We	#	<u>-3</u>		ina	Dont	<u> </u>	Count	<u> </u>		<u>A</u> .	<u>- C</u>	<u> </u>)
	eld Order 1 1, 487 vpe Job		i	ra		A.	<u>. </u>	147		2	5.5 Lla.		Count		ng/	na r	ription	i	ate KS.
_		ent-L	ová	1	•				-			· · · · · ·						5-5	W
_		E DATA				TING [DATA			JIP I	JSED						ESUM		
	319 57.5		size	Shots/F	·t			/ <u>A</u>	40		sacks A		RATE	.22	S)e	foq	Mer	<u>,.8</u>	8FLA.32
3	108'	Depth Volume		From		То				08	Salt,		<u>as B</u>	lok	<u>, a</u>				flate
<u>9</u>	3Bbl.	Max Pre		From		То						Min Avg					10 Min. 15 Min.		
1,5	00 P.S. Il Connecti	<u></u>		From		То		7	<u> </u>			HHP Use	d					s Press	curo.
P	Depth.			From		То		Flu	shan	D.	1 2 9 1	Gas Volu					Total Lo		
66 Cu	stomer Re	 presentative	7	From		To L	Statio	n Man	ager 🔽	BE	e 500			ater	<u> </u>				
	rvice Units	119	30	451	etc				<u>, r</u>	/4 V	e 100	<u> </u>	+-	<u>_</u>	lare	? nc	er.	//le	ssich
Dri	ver	Messid	5			570 hance							+				 		<u> </u>
IVa		Casing Pressure	יי ו	Flags Tubing ressure		S. Pump			Rate					San	ice Log		<u></u>		
	101	r ressure	+	lessure	- 551	s. r dinp			riate		Truck	sonl	ncat				115	afa	tymeetir
	:20								,	.,	South	Wind	Dril	lina	sta.	1110 11 +	oru	M R	egular
_											Guide	Shoe.	Sho	e J	oint i	wi+	h A	uto.	Fill
												•							latotal
											of 99						1	t/ ()	cusing.
_											Ranti	rboli	201	·5 O	nco	llars	s#1	َ لِهِ.	7,8,9,10,1
3	:45		_							_									1 hour
5	:00	300	_						6		Start	Fres	h Hz	O P	Le.				
_		300	-			20			<u>6</u>		Start								
		300	<u> </u>			<u>32</u>			6_		Start	Fres	h Hz	2 S f	<u> </u>	<u> </u>			
_			-			<u>37</u>	_				Stopp	vmpin	g. 5 h	<u>ut i</u>	nwe	<u>ell.</u>			
<u> </u>	: 17	2	-		4-	1	 		5		Plug Ro								
<u> </u>	•17	3 <i>00</i>	 			51			<u> </u>		Start	Mixin	g dC	050	achts	5 /1 /	1.90	<u>cem</u>	ent
			<u> </u>			4	\dashv				Relea	mping.	DNUT	CLAN	vell	Wa.	shpu	mp9	lines.
5	40	-0-	+			· ,	\dashv		7		Start								*
	:00	500			9	<u> </u>			/		Pluga		<u> </u>	- L V	JIJ L	113f	ngce	- //IC	
		1,500			RE	2 ECE	IVE	D			Pressu								
						LO					Relea			re.	In	sei	t h	eld	
					_	CW						UP DU							
6	:30				٧.	(<u> </u>		11 18.	4		Job (Comp	ete						
	Ī			T						.]		iants,			- 0	AA		1 4	

LARIO OIL & GAS COMPANY



301 SOUTH MARKET STREET
WICHITA, KANSAS 67202
(316) 265-5611 FAX: (316) 265-5610

KCC JUL 0 6 2006 CONFIDENTIAL

July 6, 2006

Kansas Corporation Commission Oil & Gas Conservation Division 130 S. Market, Room 2078 Wichita, KS 67202

RE: Confidentiality Request for Logs and Drilling Information

Young "F" #1-33

API #15-095-22025

NW NE NE Sec. 33-27S-5W

Kingman Co., KS

Gentlemen:

Please find enclosed the following items for the referenced well:

ACO-1; Well Completion Form Cementing Invoices Electric Logs Geological Well Site Report

ay & Schweibert

Lario requests that all of the information concerning this well be kept confidential for the maximum time allowable by KCC Regulations. If you require any additional information, please feel free to contact me.

Sincerely,

Jay G. Schweikert Operations Engineer

Encl.

XC: File

RECEIVED
JUL 0 7 2006
KCC WICHITA